6 5EIIFHRXF—KE

20134

KB ERF B iR i 3% 2A178
NEE A ) L — gk
B2 S moOE TR sqn | MR |
3 |pkHE EX HYr=- kLT3 —i% 0 0:55.07 1
2 |XN 8% |BEHhd LESIFA ZEROIJR | 6 0:59.22 2
1 |BH &3 LLLY Hve ZERO1.JR 6 - 1:11.64 3
4 |[HE FK B5 Lo 4 7 2:26.15 4
INEHE B
2 B =& SUBE OB TR sqn | R | W oE
10 |fkE —A BYt=- hTos — & 0 0:50.54 1
6 |HHWL E2 HEOFE LIFE|] ZERO1JR | 6 0:52.31 2
8 |FHE =Fih HwY= =hs — % 0 0:53.39 3
9 |[Bn BE F51-1Z h$ ZERO1.JR | 6 0:54.26 4
5 [BH RX LLLY S50 ZERO1JR | 6 1:03.39 5
7 |&EH @A £LE £2¢& ZERO1JR | 6 DS
thigd &F
| B % AU moOE TR sqn | mE | W oE
11 |&HH@ ¥F LLEE H ZERO1JR | 6 DS
ZF B
B & SYHE mOE T sqn | B | W
12 |XB Z2EF |[2oBb® =HC JFE 8 DF
TF A
2l B & | svunn S L] I PONR I T
15 |M3F mEF [LHLy T JIGREF— | 2 0:56.67 1
13 |# EF [FOL Fhs a3—AR)L 9 0:56.70 2
16 [ful Fid HELE HE =ZES5%F5 | 3 0:56.75 3
17 |8 H=E WS pH - ¥-2 1 1:00.68 4
14 |4 B&F BMLES ArAC | NIBREF— | 2 1:04.40 5
thid By
| B = S BB TR sqa | IR | W E
20 |Ehn (R EJ Ay D) R EE 10 0:50.53 1
19 |k ht+h [#FTD DK% Wl | 10 1:02.17 2
18 (Al |25 |L\Lhb Y5031 ZEROIJR | 6 DS




6 5ENIFTRR ¥—X&

KESRFHEB A E R __ 2013% 2R17H
BF F )] ] ‘ q:if —_— /L\
| B & Syt moOm TR sqn | me | W oE
23 |@R & (L =1L - —B 0 00:53.89 1
21 | KE BS BHsh w5386 | JIIBRE— | 2 1:02.63 2
22 |XiE BAH PlIf- 135S He 1 1:15.10 3
85F E
S BB moOE TR sqn me | %
27 (k@ MhhdH D&L Wwgy 4 0:55.29 1
26 |TB Kk 250 UAH JFE 8 0:56.29 2
28 |¥0O =M N<L KLHE ZEASES | 3 0:57.66 3
25 [#L BE EFOPFE HODA] JIBRAF— | 2 1:00.14 4
24 |BiE & f=mEL 2% 52 1 DF
B¥ D
SO AU o TR sqn | mE | @ %
37 |8 B— hEp s ZERO1JR | 6 0:50.66 1
35 |FEH HE= =LY ZLVES BT 1 0:51.85 2
33 |B M= [FL MDO&L He 1 0:52.43 3
32 |RJI E Blwhvh HES ZEBAEFD | 3 0:53.33 4
38 [N & PE3L f=HL JIGRE— | 2 0:53.80 5
34 |k E= oA ITAL JGRF— | 2 0:57.70 6
29 |fkBE IEKRBR |&&ED5 L&31=55 NEC 5 1:00.24 - 7
31 | EE B S3z1F5 FEhD | =5%F5 | 3 1:02.20 8
36 |IE 8 FOH kL NEC 5 1:04.60 9
30 |HE XB WD3Z SHE - §-2 1 1:04.92 10
39 |JIlL & hhhd B3d B 1 DS
BF C
2 B & | svmn moOm TR sqn |G| E
52 |¥XH F £ &L -2 1 0:50.14 1
60 |[HHE Xz HWEEH HPE NEC 5 0:50.43 2
59 |&FT A 1YL S50 BEES 4 0:51.13 3
49 |B X LE =-h= NEC 5 0:52.01 4
51 |#liR FiT PihEsh vy JIgA+— | 2 0:52.27 5
57 |i#S FH S5HLE UOTHE JFE 8 0:52.62 6
53 |h4t BE— Thin LALS — % 0 0:53.43 7
45 |[®H/ B oL =LKL JMGRF— | 2 0:53.48 8
46 |3f%E AH ZD&H V&L JFE 8 0:53.49 9
48 |EH ZEih Y- kLA g 7 0:54.14 10
55 |/hR Bz  |CLFH UBHE|  NEC 5 0:54.29 11
40 |tk —X &5 MTH L ¥4 1 0:54.52 12
43 |HH & WLFiE FZé& L ¥-2 1 0:55.41 13
50 |{Eik B— &S5 THLE i ¥-2 1 0:55.96 14
47 X —= <FHE 5HDY | JIFERF— | 2 0:57.74 15
44 |5|#h IEBA VEL FIHE L §-2 1 1:00.07 16
56 |[HE B PLHESD EBD NEC 5 1:00.10 17
41 % —JAi Mhib MTUOA| =ZFBSEFS | 3 DS
C 42 |BEE AR |HWO Z5=HS NEC 5 DS
54 |H 2 F=8h HDB L ¥ 1 DS
{58 |[NO B Mh<s LiIFE ¥4 1 DS




FEeo5MIIBHEFRAX—KE

KOG RER 2013% 2f17H

2¥ B N 74 = 7,
Yl B & BB moR TR sqn | EE | @ oE
13 |XH =— HEbh FLHlve —4 0 0:48.54 1

77 |EIG BF ILEE K5 Wgs 4 0:49.26 2

61 |HH EHR =05 HEDY gy 4 0:49.88 3

76 (EBR &S LEIES OAMA| ZESHFS | 3 0:50.86 4

64 |[FHF #H— Oy AT | JIGRF— | 2 0:51.15 5

74 BT Fio HH VTE )4 7 0:52.46 6

65 |[Fl = HEDLE HADDB =ZE5TD | 3 0:53.09 7

66 [k ZEMH LS UOTE =ESTS | 3 0:53.46 8

68 |E€F BFE Ml ELAD BZ 1 0:53.68 9

71 |87 = =50 Yps5L NEC 5 0:55.54 10

67 | ZEsk BhHhEE DI a1—ARJL 9 0:55.70 11

78 |BH FEF LLLY ELpS ZERO1JR | 6 1:07.47 12

62 |=E =ML EB5B NEC 5 DS

63 |FAL Bk HEHE TOH ZERO1.JR 6 DS

69 |&HH & &LFELIFS ZERO1.JR | 6 DS

70 [RA)l FEB LwLhvbh UTh ZERO1.JR | 6 DS

72 |%EH WHE LI 0AEH | ¥-2 1 DS

75 [IMAR iZ LI LA =ESTD | 3 DS
BF A

2 B % AUBE R L BT PN T
79 |HHE FE B bBEH | ¥4 1 0:49.60 1

81 DAEE E— CAES 505 ¥4 1 0:50.39 2

92 |BAIL 2z HIPE -Hp=E| ZEROIJR | 6 0:50.48 3

88 |:ZH [HE HELY LiSALY JFE 8 0:50.90 4

83 |/MIl A BHhH Ldf- %2 1 0:52.70 5

82 (Mg % PhESh =L | JIIEREF— | 2 0:52.89 6

80 |JETHE A FYZ =1L ;2 1 0:53.50 7

87 |=18 ahfT =hEL OApE -2 1 0:55.77 8

89 |(HF XK f-tah L% NEC 5 0:55.80 9

84 |EE E= BhAH HERPE —ESTS | 3 0:56.93 10

90 |E# MAED SMhZ NEC 5 0:57.22 11

85 |/hBh HEX ZIEL w57 JIIERF— | 2 0:57.43 12

9% |EE ZA EHED Y57 WAEER | 10 1:01.38 13

94 IMT BE =1Lz E3HE HAEZEE | 10 1:04.53 14

93 |BH fMw LELS 80D HAZEE 10 1:08.54 15

86 |{kEk s &5 YS9l Wgy 4 DS

M |/ ET BEH KLHE Wg s 4 DS




